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i Cco THC NMHC NOXx PM WF@WMTC COo THC NMHC NOx PM WF@WMTC WF
0.5:0.5 0.3:0.7
class1 0.30 Part1(C) reduce X 0.5 Part1(C) reduce X 0.3 0.5:0.5
Part1(H) reduce X 0.5 Part1(H) reduce X 0.7
0.3:0.7 0.3:0.7
class2-1 0.070 Part1(C) reduce X 0.3 0.38 0.070 Part1(C) reduce X 0.3
Part2(H) reduce X 0.7 Part2(H) reduce X 0.7
0.20 0.3:0.7
0.3:0.7 0.3:0.7
class2-2 Part1(C) X 0.3 Part1(C) X 0.3
1.14 — - Part2(H) X 0.7 1.14 — - Part2(H) X 0.7
0.25:0.5:0.25 0.25:0.5:0.25
class3-1 Part1(C) X 0.25 Part1(C) X 0.25
Part2(H) X 0.5 Part2(H) X 0.5
Part3(H) reduce X 0.25 Part3(H) reduce X 0.25
0.17 0.090 0.09 0.090 0.25:0.5:0.25
0.25:0.5:0.25 0.25:0.5:0.25
Class3-2 Part1(C) X 0.25 Part1(C) X 0.25
Part2(H) X 0.5 Part2(H) X 0.5
Part3(H) X 0.25 Part3(H) X 0.25
o Ea
Cco THC NMHC NOx PM WF@WMTC Cco THC NMHC NOx PM WF@WMTC WF@WMTC
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BDEARBDE R FPLEUROSIZEITHHT RESNI=MCWG TI30:3:0.7[CBREHE,
FHEHRROEZATRIC. BULEH 0.3:0.7 > FUNBIICWFOEREHEZREZRLTLNSA, 0.5:0.5->0.3:0.7
class2-1 BB DOWTERLI- LT, REMNICERF Part1(C) reduce X 0.3 BB EREIAETIZ, GTRZREEMNE Part1(C) reduce X 0.3
EBEINF-EARUFERNO IR R Part2(H) reduce X 0.7 F35FFE, Part2(H) reduce X 0.7
HREI~NRRT B, 00
0.3:0.7 0.5:0.5->0.3:0.7
class2-2 Part1(C) X 0.3 Part1(C) X 0.3
1.00 0.10 0.068 0.060 0.0045 Part2(H) % 0.7 1.00 0.10 0.068 0.060 0.0045 Part2(H) % 0.7
0.25:0.5:0.25 0.25:0.5:0.25
I Part1(C) X 0.25 Part1(C) X 0.25
Part2(H) X 0.5 Part2(H) X 0.5
Part3(H) reduce X 0.25 Part3(H) reduce X 0.25
0.25:0.5:0.25
0.25:0.5:0.25 0.25:0.5:0.25
Class3-2 Part1(C) X 0.25 Part1(C) X 0.25
Part2(H) X 0.5 Part2(H) X 0.5 3
Part3(H) X 0.25 Part3(H) X 0.25




